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 :       . 
 

1.       ,    . 14 

 
            . 14 

 

2.     ,    . 14 

 
        . 14 

 

3.       ,     . 14 

 
    ,    . 14 

 

4.          . 14 

 
 .    . 14 

 

5.   : ( ) 14 

 (1)       ? 

  (A) X   (B) Y    
  (C)   (D)   
 (2)         ? 

  (A)   (B)   
  (C)   (D)   
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 (3)   /   = _______  
  (A)   (B)   
  (C)   (D)   
 (4)         -   ? 

  (A)  (B)   

  (C)   (D)   
 (5)         ? 

  (A)   (B)    

  (C)   (D)   
 (6)        ? 

  (A) .. = .. (B) .. < . . 
  (C) .. > . . (D) .. = . . = .. = .. 
 (7)     _______  . 
  (A)   (B)  

  (C)   (D)   
 (8)           ? 

  (A)   (B)   

  (C)   (D)   
 (9)       ? 

  (A)  (B)   

  (C)  (D)   
 (10)        ? 

  (A)      (B)      

  (C)     (D)     
 (11)       ? 

  (A)  (B)  

  (C)  (D)  
 (12)        ? 

  (A)    
  (B)     
  (C)     
  (D)    

___________  
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1. Give the meaning of average cost and Marginal cost and explain its relationship. 14 

OR 

 Explain the relation between Average Revenue and Marginal Revenue under Monopoly 
and Perfect Competition Market. 14 

 

2. Discuss the meaning and characteristics of Perfect Competition. 14 

OR 

 Explain the Short-term and Long-term equilibrium in Perfect Competition Market. 14 

 

3. Discuss the definition and characteristics of Monopoly price determination of 
Monopoly Market. 14 

OR 

 Discuss the meaning and characteristics of Monopolistic Competition. 14 

 

4. Discuss Marginal Productivity Theory of Distribution with limitation.  14 

    OR 

  Explain the Ricardian Theory of Rent. 14 

 

5. Multiple Choice Questions : (Any Seven)  14 

 (1) How is Variable Cost Curve  ? 

  (A) Parallel to X axis (B) Parallel to Y axis 

  (C) Negative Slop (D) Positive Slop 

 (2) Which Cost is not connected with output in the Short-run ? 

  (A) Fixed Cost (B) Variable Cost 

  (C) Total Cost (D) Marginal Cost 
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 (3) Total Cost / Total Output = _________. 

  (A) Total Cost (B) Marginal Cost  

  (C) Fixed Cost  (D) Average Cost 

 (4) In which of the following Market, A. R. and M.R. both are different ? 

  (A) Monopoly (B) Pure Competition  

  (C) Perfect Competition (D) None of these 

 (5) Under Perfect Competition, demand for a firm’s product is _______ 

  (A) Perfectly Elastic (B) Perfectly Inelastic  

  (C) More Elastic (D) Less Elastic 

 (6) Which of the following condition represents short-term for supernormal profit ? 

  (A) A.R. = M.R. (B) A.R. < A.C. 

  (C) A.R. > A.C. (D) A.R. = A.C. = M.R. = M.C. 

 (7) In the Long-run, a firm under Perfect Competition gets _______ 

  (A) Abnormal Profit (B) Loss 

  (C) Normal Profit (D) None of these 

 (8) Which of the following is the main characteristic of Monopolistic Competition ? 

  (A) Homogeneous Product (B) Equal Price 

  (C) Product Differentiation (D) Large Numbers of Buyers 

 (9) How many numbers of sellers are there in Pure Monopoly  ? 

  (A) Limited (B) Only one 

  (C) Unlimited (D) Few 

 (10) In which situation all the earning of Factor become Zero ? 

  (A) Factor of supply is Perfectly Elastic.  

  (B) Factor of supply is Perfectly Inelastic. 

  (C) Factor of supply is Elastic. 

  (D) Factor of supply is Inelastic. 

 (11) Who propounded the theory of differential rent ? 

  (A) Meyers (B) Marshall  

  (C) Ricardo (D) Robinson 

 (12) Marginal Productivity Theory is concerned with _______. 

  (A) Determination of National Income  

  (B) Personal Distribution of National Income 

  (C) Functional Distribution of National Income  

  (D) Estimation of National Income 
____________ 


